
Steps Involved to Calculate Turn Over 

Step 1:- Closing Balances of Following GLs would be involved for calculation of Turn Over/Contract 

Expenses. 

Sr. No. GL Code GL Name 

1 601200 Purchase during the year 

2 602000 Labour Charges 

3 602010 LABOUR CHARGES (MAN POWER) 

4 603000 Wooden Shuttering Material Consumed 

5 604000 Miscellaneous stores Consmumed (T&P) 

6 605000 Freight, Cartage & Octrai 

7 606000 Site Office / Enabling Work 

8 607000 Electricity and Water Charges 

9 608000 Running & Maintenance Machinery 

10 609000 Running & Maintenance Vehicles 

11 610000 Ownership Charges(Work) 

12 611000 Spare Part Charges(Work) 

13 612000 Hiring Charges Machinery & Vehicles 

14 613000 Hiring Charges Godowns 

15 614000 Interest on unlisted Machinery & Steel Shuttring 

16 615000 Laboratory and Testing Charges (Chargeable to Work) 

17 617000 Insurance Charges 

18 617500 Consultancy Charges (Chargeable to Work) 

19 618000 Expenditure Pertains to Previous Year(Work) 

20 619000 Hiring Charges on Steel Shuttering(Work) 

21 620000 Work Contract Direct Expenses 

22 630000 Depreciation (Unlisted Assets) 

23 602020 EXP. ON WORK CHARGE EMPLOYEES (CHARGEABLE TO WORK) 

24 612050 HIRING CHARGES OF VEHICLES (BARE AMOUNT) 

25 620160 PURCHASE DURING THE YEAR-BOUGHT OUT MATERIAL WITH CENTAGE 
26 620260 PURCHASE DURING THE YEAR-BOUGHT OUT MATERIAL WITHOUT CENTAGE 
27 620300 ELECTRIC CONNECTION CHARGES (Centage NOT SANCTIONED) 

 

 

 

 

 

 



 

Step 2:- Get Trail Balance Report 

 

  



Step 3:- Contract Expenses  

Calculate sum of closing balances from above trial balance for GL codes mentioned in  table of Step-1. 

This amount would be the "Contract Expenses". 

Remark-Opening Stock GL not considered for contract expenses 

 

 

  



Step-4 Turn Over 

Deposit Work 

  
 Total of Contract expenses in Trial Balance                 = X 

Add: Centage defined in Project Master (On X)             = X*1.125       =Y   (Say 12.5 %) 

Cess on Y @ 1%                                                           = Y1 

GST on Y defined In Project Master                              = Y2 
 

Turn Over                = Y+Y1+Y2 

Tender Work 

  
Note:-Centage not applicable for Tender Work. 
  
        Total of Contract expenses in Trial Balance                 =X 

Add: Cess on X @ 1%                                                          =X1 

        GST on X defined in Project Master                             =X2 

  
Turn Over                      = X+X1+X2 

 

 

As per above formula the turn over is calculated in below screen. 

 


